

Vermilion Livestock Exchange Presort Sale - January 28, 2026.

Wednesday, January 28, 2026 -- 09:00 AM

Pre-Sort

This is a live broadcast of a pre-sort sale out of Vermilion Livestock Exchange. For more information call Jeannie at (780) 554-4939

NOTES...

Seq#	Lot#	Pen#	Head#	Sex	Breed	Avg. Wt.	Total Wt.	Consignor
1	1	D-38		1 STRS	TAN	627	627	
2	2	4-8		3 STRS	TAN	745	2235	
3	3	D-39		2 STRS	WHT	647	1294	
4	4	B-17		2 STRS	WHT	810	1620	
5	5	B-18		1 STRS	SMOK	486	486	
6	6	B19F		1 STRS	SMOK	630	630	
7	7	B19B		2 STRS	EXOT	428	855	
8	8	4-12		8 STRS	EXOT	476	3808	
9	9	A-18		8 STRS	EXOT	550	4398	
10	10	5-3		11 STRS	EXOT	614	6751	
11	11	5-5		6 STRS	EXOT	668	4005	
12	12	5-7		8 STRS	EXOT	725	5801	
13	13	5-9		5 STRS	EXOT	775	3877	
14	14	5-11		4 STRS	EXOT	847	3389	
15	15	D-32		2 STRS	SIMM	544	1089	
16	16	D-33		3 STRS	SIMM	658	1974	
17	17	A-20		10 STRS	BLEX	540	5400	
18	18	4-10		20 STRS	BLEX	614	12280	
19	19	4-4		14 STRS	BLEX	663	9285	
20	20	4-6		9 STRS	BLEX	726	6535	
21	21	D-34		4 STRS	BLEX	772	3086	
22	22	D-35		3 STRS	BLK	419	1258	
23	23	B-14		3 STRS	BLK	613	1838	
24	24	B-15		3 STRS	BLK	682	2045	
25	25	B-16		2 STRS	BRIT	618	1236	
26	26	D-28		1 STRS	RWF	446	446	
27	27	D-29		1 STRS	EXOT	570	570	
28	28	D-30		2 STRS	NORT	634	1268	
29	29	B-11		1 STRS	NORT	841	841	
30	30	B-12		1 STRS	LATE	424	424	
31	31	B-13		2 STRS	SPEC	724	1449	
32	32	D24F		1 STRS	SHOR	657	657	
33	33	D24B		1 STRS	WEST	515	515	
34	34	D-25		6 BULL	EXOT	494	2967	

35	35	D-26	4	BULL	EXOT	585	2339	
36	36	D-27	3	BULL	EXOT	699	2098	
37	37	B-8	1	BULL	EXOT	782	782	
38	38	B-9	1	BULL	EXOT	965	965	
39	39	B-10	1	BULL	EXOT	1037	1037	
40	40	D-20	8	BULL	BRIT	421	3371	
41	41	D-21	2	BULL	BRIT	578	1157	
42	42	D-23	1	STRS	STAG	476	476	
43	43	B-7	1	STRS	STAG	720	720	
44	44	B-6	2	STRS	STAG	1164	2329	
45	45	B-5	2	STRS	BABY	271	542	
46	46	D-22	5	STRS	TINY	367	1836	
47	47	1-4	5	HFRS	TAN	581	2907	
48	48	2-3	4	HFRS	TAN	724	2895	
49	49	1-6	2	HFRS	WHT	632	1263	
50	50	2-5	4	HFRS	CHAR	499	1995	
51	51	1-8	3	HFRS	CHAR	634	1903	
52	52	2-7	2	HFRS	CHAR	732	1465	
53	53	1-10	4	HFRS	EXOT	473	1892	
54	54	1-5	13	HFRS	EXOT	566	7363	
55	55	1-5A	10	HFRS	EXOT	646	6461	
56	56	2-9	5	HFRS	EXOT	722	3612	
57	57	1-12	1	HFRS	BIG	976	976	
58	58	2-11	1	HFRS	RED	479	479	
59	59	1-14	1	HFRS	SIMM	611	611	
60	60	2-13	2	HFRS	SIMM	779	1558	
61	61	1-16	7	HFRS	BLK	424	2966	
62	62	1-5B	13	HFRS	BLK	484	6288	
63	63	1-7	13	HFRS	BLK	558	7251	
64	64	1-7A	12	HFRS	BLK	625	7500	
65	65	1-7B	13	HFRS	BLK	709	9214	
66	66	2-15	4	HFRS	BLK	766	3066	
67	67	1-9	9	HFRS	BLEX	567	5104	
68	68	1-9A	13	HFRS	BLEX	639	8307	
69	69	1-9B	5	HFRS	BLEX	732	3658	
70	70	1-18	5	HFRS	BLEX	808	4040	
71	71	2-17	4	HFRS	BLK	767	3069	REPLACEMENT
72	72	1-20	3	HFRS	REDX	702	2106	REPLACEMENT
73	73	2-19	6	HFRS	REDX	828	4965	REPLACEMENT
74	74	1-22	2	HFRS	RED	784	1568	REPLACEMENT
75	75	2-21	3	HFRS	BRIT	420	1261	
76	76	1-24	8	HFRS	BRIT	480	3839	
77	77	1-11	10	HFRS	BRIT	564	5640	

78	78	111A	6	HFRS	BRIT	639	3836	
79	79	111B	4	HFRS	BRIT	710	2839	
80	80	2-23	5	HFRS	BRIT	767	3837	
81	81	1-26	1	HFRS	RWF	541	541	
82	82	2-25	5	HFRS	EXOT	421	2107	
83	83	1-28	5	HFRS	EXOT	546	2729	
84	84	2-27	2	HFRS	EXOT	642	1285	
85	85	1-30	1	HFRS	EXOT	747	747	
86	86	2-29	3	HFRS	SPEC	491	1474	
87	87	1-32	1	HFRS	NORT	486	486	
88	88	2-31	1	HFRS	NORT	630	630	
89	89	1-34	1	HFRS	SHOR	478	478	
90	90	2-33	2	HFRS	WEST	343	686	
91	91	1-36	1	HFRS	WEST	427	427	
92	92	2-35	1	HFRS	WEST	510	510	
93	93	1-38	2	HFRS	WEST	624	1248	
94	94	2-4	10	HFRS	TINY	314	3141	

Total Head: 420

Lot Detail Information

Sequence #:	1	Lot #:	1
Pen #:	D-38	Consignor:	
Head:	1	Average Weight:	627
Color:		Total Weight:	627
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	2	Lot #:	2
Pen #:	4-8	Consignor:	
Head:	3	Average Weight:	745
Color:		Total Weight:	2235
Sex:	STRS	Breed:	TAN

Lot Detail Information

Sequence #:	3	Lot #:	3
Pen #:	D-39	Consignor:	
Head:	2	Average Weight:	647
Color:		Total Weight:	1294
Sex:	STRS	Breed:	WHT

Lot Detail Information

Sequence #:	4	Lot #:	4
Pen #:	B-17	Consignor:	
Head:	2	Average Weight:	810
Color:		Total Weight:	1620
Sex:	STRS	Breed:	WHT

Lot Detail Information

Sequence #:	5	Lot #:	5
Pen #:	B-18	Consignor:	
Head:	1	Average Weight:	486
Color:		Total Weight:	486
Sex:	STRS	Breed:	SMOK

Lot Detail Information

Sequence #:	6	Lot #:	6
Pen #:	B19F	Consignor:	
Head:	1	Average Weight:	630
Color:		Total Weight:	630
Sex:	STRS	Breed:	SMOK

Lot Detail Information

Sequence #:	7	Lot #:	7
Pen #:	B19B	Consignor:	
Head:	2	Average Weight:	428
Color:		Total Weight:	855
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	8	Lot #:	8
-------------	----------	--------	----------

Pen #:	4-12	Consignor:	
Head:	8	Average Weight:	476
Color:		Total Weight:	3808
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	9	Lot #:	9
Pen #:	A-18	Consignor:	
Head:	8	Average Weight:	550
Color:		Total Weight:	4398
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	10	Lot #:	10
Pen #:	5-3	Consignor:	
Head:	11	Average Weight:	614
Color:		Total Weight:	6751
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	11	Lot #:	11
Pen #:	5-5	Consignor:	
Head:	6	Average Weight:	668
Color:		Total Weight:	4005
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	12	Lot #:	12
Pen #:	5-7	Consignor:	
Head:	8	Average Weight:	725
Color:		Total Weight:	5801
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	13	Lot #:	13
Pen #:	5-9	Consignor:	
Head:	5	Average Weight:	775
Color:		Total Weight:	3877
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	14	Lot #:	14
Pen #:	5-11	Consignor:	
Head:	4	Average Weight:	847
Color:		Total Weight:	3389
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	15	Lot #:	15
Pen #:	D-32	Consignor:	
Head:	2	Average Weight:	544
Color:		Total Weight:	1089

Sex:	STRS	Breed:	SIMM
------	-------------	--------	-------------

Lot Detail Information

Sequence #:	16	Lot #:	16
Pen #:	D-33	Consignor:	
Head:	3	Average Weight:	658
Color:		Total Weight:	1974
Sex:	STRS	Breed:	SIMM

Lot Detail Information

Sequence #:	17	Lot #:	17
Pen #:	A-20	Consignor:	
Head:	10	Average Weight:	540
Color:		Total Weight:	5400
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	18	Lot #:	18
Pen #:	4-10	Consignor:	
Head:	20	Average Weight:	614
Color:		Total Weight:	12280
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	19	Lot #:	19
Pen #:	4-4	Consignor:	
Head:	14	Average Weight:	663
Color:		Total Weight:	9285
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	20	Lot #:	20
Pen #:	4-6	Consignor:	
Head:	9	Average Weight:	726
Color:		Total Weight:	6535
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	21	Lot #:	21
Pen #:	D-34	Consignor:	
Head:	4	Average Weight:	772
Color:		Total Weight:	3086
Sex:	STRS	Breed:	BLEX

Lot Detail Information

Sequence #:	22	Lot #:	22
Pen #:	D-35	Consignor:	
Head:	3	Average Weight:	419
Color:		Total Weight:	1258
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	23	Lot #:	23
Pen #:	B-14	Consignor:	
Head:	3	Average Weight:	613
Color:		Total Weight:	1838
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	24	Lot #:	24
Pen #:	B-15	Consignor:	
Head:	3	Average Weight:	682
Color:		Total Weight:	2045
Sex:	STRS	Breed:	BLK

Lot Detail Information

Sequence #:	25	Lot #:	25
Pen #:	B-16	Consignor:	
Head:	2	Average Weight:	618
Color:		Total Weight:	1236
Sex:	STRS	Breed:	BRIT

Lot Detail Information

Sequence #:	26	Lot #:	26
Pen #:	D-28	Consignor:	
Head:	1	Average Weight:	446
Color:		Total Weight:	446
Sex:	STRS	Breed:	RWF

Lot Detail Information

Sequence #:	27	Lot #:	27
Pen #:	D-29	Consignor:	
Head:	1	Average Weight:	570
Color:		Total Weight:	570
Sex:	STRS	Breed:	EXOT

Lot Detail Information

Sequence #:	28	Lot #:	28
Pen #:	D-30	Consignor:	
Head:	2	Average Weight:	634
Color:		Total Weight:	1268
Sex:	STRS	Breed:	NORT

Lot Detail Information

Sequence #:	29	Lot #:	29
Pen #:	B-11	Consignor:	
Head:	1	Average Weight:	841
Color:		Total Weight:	841
Sex:	STRS	Breed:	NORT

Lot Detail Information

Sequence #:	30	Lot #:	30
Pen #:	B-12	Consignor:	
Head:	1	Average Weight:	424

Color:		Total Weight:	424
Sex:	STRS	Breed:	LATE

Lot Detail Information

Sequence #:	31	Lot #:	31
Pen #:	B-13	Consignor:	
Head:	2	Average Weight:	724
Color:		Total Weight:	1449
Sex:	STRS	Breed:	SPEC

Lot Detail Information

Sequence #:	32	Lot #:	32
Pen #:	D24F	Consignor:	
Head:	1	Average Weight:	657
Color:		Total Weight:	657
Sex:	STRS	Breed:	SHOR

Lot Detail Information

Sequence #:	33	Lot #:	33
Pen #:	D24B	Consignor:	
Head:	1	Average Weight:	515
Color:		Total Weight:	515
Sex:	STRS	Breed:	WEST

Lot Detail Information

Sequence #:	34	Lot #:	34
Pen #:	D-25	Consignor:	
Head:	6	Average Weight:	494
Color:		Total Weight:	2967
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	35	Lot #:	35
Pen #:	D-26	Consignor:	
Head:	4	Average Weight:	585
Color:		Total Weight:	2339
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	36	Lot #:	36
Pen #:	D-27	Consignor:	
Head:	3	Average Weight:	699
Color:		Total Weight:	2098
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	37	Lot #:	37
Pen #:	B-8	Consignor:	
Head:	1	Average Weight:	782
Color:		Total Weight:	782
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	38	Lot #:	38
Pen #:	B-9	Consignor:	
Head:	1	Average Weight:	965
Color:		Total Weight:	965
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	39	Lot #:	39
Pen #:	B-10	Consignor:	
Head:	1	Average Weight:	1037
Color:		Total Weight:	1037
Sex:	BULL	Breed:	EXOT

Lot Detail Information

Sequence #:	40	Lot #:	40
Pen #:	D-20	Consignor:	
Head:	8	Average Weight:	421
Color:		Total Weight:	3371
Sex:	BULL	Breed:	BRIT

Lot Detail Information

Sequence #:	41	Lot #:	41
Pen #:	D-21	Consignor:	
Head:	2	Average Weight:	578
Color:		Total Weight:	1157
Sex:	BULL	Breed:	BRIT

Lot Detail Information

Sequence #:	42	Lot #:	42
Pen #:	D-23	Consignor:	
Head:	1	Average Weight:	476
Color:		Total Weight:	476
Sex:	STRS	Breed:	STAG

Lot Detail Information

Sequence #:	43	Lot #:	43
Pen #:	B-7	Consignor:	
Head:	1	Average Weight:	720
Color:		Total Weight:	720
Sex:	STRS	Breed:	STAG

Lot Detail Information

Sequence #:	44	Lot #:	44
Pen #:	B-6	Consignor:	
Head:	2	Average Weight:	1164
Color:		Total Weight:	2329
Sex:	STRS	Breed:	STAG

Lot Detail Information

Sequence #:	45	Lot #:	45
-------------	-----------	--------	-----------

Pen #:	B-5	Consignor:	
Head:	2	Average Weight:	271
Color:		Total Weight:	542
Sex:	STRS	Breed:	BABY

Lot Detail Information

Sequence #:	46	Lot #:	46
Pen #:	D-22	Consignor:	
Head:	5	Average Weight:	367
Color:		Total Weight:	1836
Sex:	STRS	Breed:	TINY

Lot Detail Information

Sequence #:	47	Lot #:	47
Pen #:	1-4	Consignor:	
Head:	5	Average Weight:	581
Color:		Total Weight:	2907
Sex:	HFRS	Breed:	TAN

Lot Detail Information

Sequence #:	48	Lot #:	48
Pen #:	2-3	Consignor:	
Head:	4	Average Weight:	724
Color:		Total Weight:	2895
Sex:	HFRS	Breed:	TAN

Lot Detail Information

Sequence #:	49	Lot #:	49
Pen #:	1-6	Consignor:	
Head:	2	Average Weight:	632
Color:		Total Weight:	1263
Sex:	HFRS	Breed:	WHT

Lot Detail Information

Sequence #:	50	Lot #:	50
Pen #:	2-5	Consignor:	
Head:	4	Average Weight:	499
Color:		Total Weight:	1995
Sex:	HFRS	Breed:	CHAR

Lot Detail Information

Sequence #:	51	Lot #:	51
Pen #:	1-8	Consignor:	
Head:	3	Average Weight:	634
Color:		Total Weight:	1903
Sex:	HFRS	Breed:	CHAR

Lot Detail Information

Sequence #:	52	Lot #:	52
Pen #:	2-7	Consignor:	
Head:	2	Average Weight:	732
Color:		Total Weight:	1465

Sex:	HFRS	Breed:	CHAR
------	-------------	--------	-------------

Lot Detail Information

Sequence #:	53	Lot #:	53
Pen #:	1-10	Consignor:	
Head:	4	Average Weight:	473
Color:		Total Weight:	1892
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	54	Lot #:	54
Pen #:	1-5	Consignor:	
Head:	13	Average Weight:	566
Color:		Total Weight:	7363
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	55	Lot #:	55
Pen #:	1-5A	Consignor:	
Head:	10	Average Weight:	646
Color:		Total Weight:	6461
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	56	Lot #:	56
Pen #:	2-9	Consignor:	
Head:	5	Average Weight:	722
Color:		Total Weight:	3612
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	57	Lot #:	57
Pen #:	1-12	Consignor:	
Head:	1	Average Weight:	976
Color:		Total Weight:	976
Sex:	HFRS	Breed:	BIG

Lot Detail Information

Sequence #:	58	Lot #:	58
Pen #:	2-11	Consignor:	
Head:	1	Average Weight:	479
Color:		Total Weight:	479
Sex:	HFRS	Breed:	RED

Lot Detail Information

Sequence #:	59	Lot #:	59
Pen #:	1-14	Consignor:	
Head:	1	Average Weight:	611
Color:		Total Weight:	611
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	60	Lot #:	60
Pen #:	2-13	Consignor:	
Head:	2	Average Weight:	779
Color:		Total Weight:	1558
Sex:	HFRS	Breed:	SIMM

Lot Detail Information

Sequence #:	61	Lot #:	61
Pen #:	1-16	Consignor:	
Head:	7	Average Weight:	424
Color:		Total Weight:	2966
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	62	Lot #:	62
Pen #:	1-5B	Consignor:	
Head:	13	Average Weight:	484
Color:		Total Weight:	6288
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	63	Lot #:	63
Pen #:	1-7	Consignor:	
Head:	13	Average Weight:	558
Color:		Total Weight:	7251
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	64	Lot #:	64
Pen #:	1-7A	Consignor:	
Head:	12	Average Weight:	625
Color:		Total Weight:	7500
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	65	Lot #:	65
Pen #:	1-7B	Consignor:	
Head:	13	Average Weight:	709
Color:		Total Weight:	9214
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	66	Lot #:	66
Pen #:	2-15	Consignor:	
Head:	4	Average Weight:	766
Color:		Total Weight:	3066
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	67	Lot #:	67
Pen #:	1-9	Consignor:	
Head:	9	Average Weight:	567

Color:		Total Weight:	5104
Sex:	HFRS	Breed:	BLEX

Lot Detail Information

Sequence #:	68	Lot #:	68
Pen #:	1-9A	Consignor:	
Head:	13	Average Weight:	639
Color:		Total Weight:	8307
Sex:	HFRS	Breed:	BLEX

Lot Detail Information

Sequence #:	69	Lot #:	69
Pen #:	1-9B	Consignor:	
Head:	5	Average Weight:	732
Color:		Total Weight:	3658
Sex:	HFRS	Breed:	BLEX

Lot Detail Information

Sequence #:	70	Lot #:	70
Pen #:	1-18	Consignor:	
Head:	5	Average Weight:	808
Color:		Total Weight:	4040
Sex:	HFRS	Breed:	BLEX

Lot Detail Information

Sequence #:	71	Lot #:	71
Pen #:	2-17	Consignor:	REPLACEMENT
Head:	4	Average Weight:	767
Color:		Total Weight:	3069
Sex:	HFRS	Breed:	BLK

Lot Detail Information

Sequence #:	72	Lot #:	72
Pen #:	1-20	Consignor:	REPLACEMENT
Head:	3	Average Weight:	702
Color:		Total Weight:	2106
Sex:	HFRS	Breed:	REDX

Lot Detail Information

Sequence #:	73	Lot #:	73
Pen #:	2-19	Consignor:	REPLACEMENT
Head:	6	Average Weight:	828
Color:		Total Weight:	4965
Sex:	HFRS	Breed:	REDX

Lot Detail Information

Sequence #:	74	Lot #:	74
Pen #:	1-22	Consignor:	REPLACEMENT
Head:	2	Average Weight:	784
Color:		Total Weight:	1568
Sex:	HFRS	Breed:	RED

Lot Detail Information

Sequence #:	75	Lot #:	75
Pen #:	2-21	Consignor:	
Head:	3	Average Weight:	420
Color:		Total Weight:	1261
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	76	Lot #:	76
Pen #:	1-24	Consignor:	
Head:	8	Average Weight:	480
Color:		Total Weight:	3839
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	77	Lot #:	77
Pen #:	1-11	Consignor:	
Head:	10	Average Weight:	564
Color:		Total Weight:	5640
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	78	Lot #:	78
Pen #:	111A	Consignor:	
Head:	6	Average Weight:	639
Color:		Total Weight:	3836
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	79	Lot #:	79
Pen #:	111B	Consignor:	
Head:	4	Average Weight:	710
Color:		Total Weight:	2839
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	80	Lot #:	80
Pen #:	2-23	Consignor:	
Head:	5	Average Weight:	767
Color:		Total Weight:	3837
Sex:	HFRS	Breed:	BRIT

Lot Detail Information

Sequence #:	81	Lot #:	81
Pen #:	1-26	Consignor:	
Head:	1	Average Weight:	541
Color:		Total Weight:	541
Sex:	HFRS	Breed:	RWF

Lot Detail Information

Sequence #:	82	Lot #:	82
-------------	-----------	--------	-----------

Pen #:	2-25	Consignor:	
Head:	5	Average Weight:	421
Color:		Total Weight:	2107
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	83	Lot #:	83
Pen #:	1-28	Consignor:	
Head:	5	Average Weight:	546
Color:		Total Weight:	2729
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	84	Lot #:	84
Pen #:	2-27	Consignor:	
Head:	2	Average Weight:	642
Color:		Total Weight:	1285
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	85	Lot #:	85
Pen #:	1-30	Consignor:	
Head:	1	Average Weight:	747
Color:		Total Weight:	747
Sex:	HFRS	Breed:	EXOT

Lot Detail Information

Sequence #:	86	Lot #:	86
Pen #:	2-29	Consignor:	
Head:	3	Average Weight:	491
Color:		Total Weight:	1474
Sex:	HFRS	Breed:	SPEC

Lot Detail Information

Sequence #:	87	Lot #:	87
Pen #:	1-32	Consignor:	
Head:	1	Average Weight:	486
Color:		Total Weight:	486
Sex:	HFRS	Breed:	NORT

Lot Detail Information

Sequence #:	88	Lot #:	88
Pen #:	2-31	Consignor:	
Head:	1	Average Weight:	630
Color:		Total Weight:	630
Sex:	HFRS	Breed:	NORT

Lot Detail Information

Sequence #:	89	Lot #:	89
Pen #:	1-34	Consignor:	
Head:	1	Average Weight:	478
Color:		Total Weight:	478

Sex:	HFRS	Breed:	SHOR
------	-------------	--------	-------------

Lot Detail Information

Sequence #:	90	Lot #:	90
Pen #:	2-33	Consignor:	
Head:	2	Average Weight:	343
Color:		Total Weight:	686
Sex:	HFRS	Breed:	WEST

Lot Detail Information

Sequence #:	91	Lot #:	91
Pen #:	1-36	Consignor:	
Head:	1	Average Weight:	427
Color:		Total Weight:	427
Sex:	HFRS	Breed:	WEST

Lot Detail Information

Sequence #:	92	Lot #:	92
Pen #:	2-35	Consignor:	
Head:	1	Average Weight:	510
Color:		Total Weight:	510
Sex:	HFRS	Breed:	WEST

Lot Detail Information

Sequence #:	93	Lot #:	93
Pen #:	1-38	Consignor:	
Head:	2	Average Weight:	624
Color:		Total Weight:	1248
Sex:	HFRS	Breed:	WEST

Lot Detail Information

Sequence #:	94	Lot #:	94
Pen #:	2-4	Consignor:	
Head:	10	Average Weight:	314
Color:		Total Weight:	3141
Sex:	HFRS	Breed:	TINY